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Write all answers in your blue book. Show all of your work. 


1. (15pts) In Money as a Mechanism of Exchange, W.S. Jevons claims that, in an economy without a particular commodity which functions as a unit of account, all ratios of exchange "must be carefully adjusted so as to be consistent with each other, else the acute trader will be able to profit by buying from some and selling to others." Suppose there were an economy with five goods: fish, tents, bandannas, marbles and pots, none of which serves as a unit of account. Design a set of ratios of exchange for this economy which allows the acute trader to profit in the way Jevons describes. Describe the possible profits. What is the most profit that could be made? 


2. (30pts) The Bureau of Labor Statistics, the agency responsible for calculating the Consumer Price Index (CPI), recently announced that the CPI probably overestimates annual inflation by about 1.5%. So, for instance, while the CPI has risen by 2.9% over the past twelve months, the Bureau of Labor Statistics believes that American consumers have faced only 1.4% higher average prices over this period. Suppose that you are an economist working for the American Association of Retired Persons (AARP), a private group which lobbies lawmakers on behalf of senior citizens. Because social security cost of living adjustments are currently based on the CPI, the revelations about the deficiencies of the CPI concern your boss at AARP. Your boss knows nothing about inflation or the CPI, so he turns to you. He asks you to write him a coherent memo in which you define inflation, define the CPI, and explain, as completely as possible, why the CPI overestimates inflation. Finally, your boss would like to know your opinion about whether AARP should try to persuade Congress to base social security cost of living adjustments on one of the other commonly used measures of inflation. Give your opinion, and thoroughly explain your reasoning. 


3. Suppose that Jerome lends $100 for one year at a nominal annual interest rate of 11.5%. 
(a) (10pts) If he expects the inflation rate to be 2.9% over the year of the loan, what real return does Jerome anticipate? Show and explain your work. Do not approximate. 
(b) (10pts) If the actual inflation rate over the year of the loan turns out to be 6.5%, what real return did Jerome receive? Show and explain your work. Do not approximate. 


4. (20pts) Consider the costs to society from inflation. A society would bear some of these costs even if everyone could correctly forecast the inflation rate. The other costs of inflation are due to the uncertainty surrounding people's forecasts of the inflation rate. Briefly describe these latter costs, i.e. the costs of unanticipated inflation which would not be a problem if inflation were correctly anticipated. 


5. Suppose you are considering buying one of two bonds. Both have purchase prices of $100. Bond A matures next year, and has an annual yield to maturity of 5%. Bond B matures 30 years from now and has an annual yield to maturity of 8%. 
(a) (5pts) What amount will each bond pay when it matures? 
(b) (10pts) If all interest rates fall 1% tomorrow, what price will each bond sell for tomorrow? Explain your reasoning.
